# MANATEE COUNTY GOVERNMENT INTENT TO AWARD

IFBC NO. / TITLE	IFBC No. 24-TA005076JH - Honore Avenue at Old Farm Road Intersection Improvements	DATE POSTED	MC	DS	
PROCUREMENT REPRESENTATIVE	Jeb Hayter, Procurement Agent III	PROJECTED AWARD DATE	May 14, 2024		
DEPARTMENT/DIVISION	Public Works Department	AUTHORIZED BY DATE	Jacob Erickson, Pu	rchasing Official	

#### **NOTICE OF INTENT TO AWARD**

The Manatee County Procurement Division provides notice of its intent to award a contract with Woodruff & Sons, Inc., for the provision of Honore Avenue at Old Farm Road intersection improvements.

## **ENABLING/REGULATING AUTHORITY**

Manatee County Procurement Ordinance, Sec 2-26.

## **BACKGROUND/EVALUATION**

The Scope of Work consists of, but not limited to, construction of a roundabout at the Honore Avenue and Old Farm Road intersection.

The solicitation was advertised on December 12, 2023, on the Manatee County website and DemandStar. It was also provided to the Manatee County Chamber of Commerce, the Manasota Black Chamber of Commerce, Gulf Coast Builders Exchange and Gulf Coast Latin Chamber of Commerce for release to their members and in the Bradenton Herald and Tempo News newspapers. Responses were received from the following firms:

- 1. Gator Grading & Paving, LLC, Palmetto, FL
- 2. Woodruff & Sons, Inc., Bradenton, FL

The following firms were deemed non-responsive/non-responsible: None

#### **EVALUATION SUMMARY:**

Woodruff & Sons, Inc., was the lowest responsible, responsive bidder(s). A bid tabulation of the results is attached to this Notice of Intent to Award.

#### **RECOMMENDATION**

The Procurement Division and the Public Works Department recommend award to Woodruff & Sons, Inc.

ATTACHMENTS	Bid Tabulation	COST	\$3,230,688.44
(List in order of attached)			

## BID TABULATION SUMMARY IFBC NO. 24-TA005076JH HONORE AVENUE AT OLD FARM ROAD INTERSECTION IMPROVEMENTS

Honore Avenue at Old Farm Road Intersection Improvements	Gator Grading & Paving, LLC	Woodruff & Sons, Inc.
Bid Total - Bid A 430 Calendar Days	\$3,950,465.52	\$3,230,688.44
Honore Avenue at Old Farm Road Intersection Improvements	Gator Grading & Paving, LLC	Woodruff & Sons, Inc.
Bid Total - Bid B 340 Calendar Days	No Bid	No Bid

BID TABULATION

IFBC 24-TA005076JH HONORE AVENUE AT OLD FARM ROAD INTERSECTION IMPROVEMENTS

Bidders must provide prices for each available line item on each tab for their bid to be considered resonative

Column	Bidders mu	at provide prices 1	for each available line item on each tab for their bid to be considered responsive							1			
The color								DID 4 420 CAI					
1   10000000	ITEM	PAY ITEM NO.	DESCRIPTION	UNIT	D								TOTAL PRICE
2   1889-08     1889-09													
3   1863   1866   186	1				1								\$0.00
4					1 144								\$0.00 \$0.00
1   1915	_												\$0.00
1													\$0.00
1	6	110-1-1	CLEARING & GRUBBING		1	\$78,470.00	\$78,470.00		\$0.00	\$30,160.58	\$30,160.58		\$0.00
196													\$0.00
984   SAMESTORING TYPE AS REPOYNED SECURITY OF THE SECURITY	-												\$0.00
15   1.50-09-00   PRINCAL MARKAGE GENERAL PROPERTY OF 10   10   10   10   10   10   10   10													\$0.00
27   1.75   1.													\$0.00 \$0.00
10   139-9-4   MILLION CATARON APPRILAT PAYMENT FOR AND STOPS   10   139-9-5   130-9													\$0.00
14   13   13   13   13   13   13   13													\$0.00
1991   SOUTH ADDRESS ASSOCIATION   No. 5   1,5000   5000   515,000   5000   515,000													\$0.00
19   SAN-119		337-7-82							\$0.00				\$0.00
15   C5-1-20   NUTE CHEST TWEN - 09	16	339-1	MISCELLANEOUS ASPHALT PAVEMENT	TN	5.4	\$1,800.00	\$9,702.00		\$0.00	\$1,576.45	\$8,497.07		\$0.00
50   50.5-101   SULES CREAT PURE A- 07		350-30-13	*		146								\$0.00
20			7 7 7 7										\$0.00
22   GS-548   MARTE REPRETATION FOR EACH   SAME													\$0.00 \$0.00
CS-54													\$0.00
23-24													\$0.00
CS-50   ANNORAR P. REPAIL													\$0.00
20   40-175-11   PRECILIZER OFFICIAL MATERIAL ROND, IP SCD		425-2-63	MANHOLES, P-8, PARTIAL		1	\$7,880.90	\$7,880.90		\$0.00	\$15,021.59	\$15,021.59		\$0.00
Section   PRICELYPIX OPTIONAL MATERIAL, ROND, UP SCD	25	430-175-115	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 15° S/CD	LF	4	\$1,544.50	\$6,178.00		\$0.00	\$4,622.92	\$18,491.68		\$0.00
27   00-15-51   PRECUNST OFFENAL AND STATE ALL OTHER FLEFANCE (STATE OF STATE OF S	26	420.175.118	DIRECTI VERT OPTIONAL MATERIAL POINT 19° S/CD	TE		\$214.40	\$109 700 90		\$0.00	\$272.52	\$128 670 71		\$0.00
29   SSA-19					_								\$0.00
SSS-10   CONCRETE CHIEF CUTTE, TWEE							,		-	022000	040,140.00		\$0.00
SSA-LIN   CONCRETE CHIEF (CUTTE, TWEF   UF   L809   SSL6   SSL730.0   SSL0   SSR.0									-				\$0.00
SSD-24   CONCERT CERE & CUTTER, TYPE RA	30	520-1-10	CONCRETE CURB & GUTTER, TYPE F	LF	1,420	\$33.65	\$47,783.00		\$0.00	\$49.53	\$70,332.60		\$0.00
33   S2-1   CONCRETE DISPURAL F. PIRICK	31						\$4,653.65		\$0.00				\$0.00
Section   Sect									-				\$0.00
35   321-2   DETICABLE WARNINGS													\$0.00
56   586-10   GLARDRAIL ROLDWAY GENERALION STREET AND PRODUCTION OF RIGOD BARRIER, FEEL APPROACH TIL.2   EA   1   56,655.65   56,645.60   510.00   53,000.00   5			**										\$0.00
356-513   GLARDEAL RANSTEN CONNECTION TO RIGID BARRIER, FEL TRAILING   EA   1   \$5,65100   \$5,65500   \$5,65500   \$5,65500   \$5,1000													\$0.00 \$0.00
\$56-\$122   GLARDEALE RANSTEDN CONNECTION TO RIGID BARRIER, FAL TRAILING					123								\$0.00
19			7 7		1	\$3,692.00	\$3,692.00		\$0.00				\$0.00
41   556-52-5   GLARDRALL PIOT REATMENT, TYPE CET   EA   1   \$6,055-05   \$54,665-06   \$5100   \$54,000   \$54,000   \$52,000   \$10,000		536-73	GUARDRAIL REMOVAL		108	\$7.40	\$799.20		\$0.00	\$54.21	\$5,854.68		\$0.00
22   559-16-918   FENCINI, SPECIAL TYPE, 00-57, RESET EXISTING	40	536-85-20	GUARDRAIL END TREATMENT - TRAILING ANCHORAGE	EA	1	\$2,953.60	\$2,953.60		\$0.00	\$3,640.00	\$3,640.00		\$0.00
41   590-12   REPORDANCE TUEF, EOC   57   516.0   57   515.0   510   517.0   52.0   510   517.0   52.0   517.0   52.0   52.0   517.0   52.0													\$0.00
44   596-11   LANDEL PRI STAND PLANE, PLANTS   15   1   57.3840   57.3840   59.00   519.2714   59.2714     45   591-14   SELOCATE TREES AND PLANE, PLANE, PLOY CLEAR TRINK   EA   2   51.7540   57.3840   57.3840   59.00   54.9724   59.00     46   591-3   SELOCATE TREES AND PLANE, PLANE, PLANE PRI STAND PLANE P													\$0.00
45   581-14   RELOCATE TREES AND PALMS, PALM, — IF OF CLEAR TRUNK			*										\$0.00 \$0.00
66   SS1-13   RELOCAT TREES AND PALASS, MILL TREAMS OF CLUSTERING   EA   2   S.7.38400   S\$10.00   S\$2.955.   S\$5.9842													\$0.00
45   S91-1-40   BERGATON SLEVE, *** DIAMETRA TREAST HERGIT   EA   1   \$2,384.0   \$5,384.0   \$5,00.0   \$5,386.0   \$5,386.0   \$5,386.0   \$6,00   \$5,386.0   \$6,00   \$5,386.0   \$6,00			7 7					-					\$0.00 \$0.00
48   991-1-40   REMATION SLEWL, # DIAMITER   LF   50   \$3.60.0   \$5.00.0   \$511.0   \$5.05.04													\$0.00
Solid   Soli													\$0.00
SLAMAGE   SLAM		630-2-12	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	LF	50	\$38.40	\$1,920.00		\$0.00		\$1,690.00		\$0.00
SIGNATE   SINGLE POST SIGN, PERGOND MOUNT, IP TO 12 ST	50	751-44-1			-	\$4,430.40	\$4,430.40		\$0.00	\$13,000.01	\$13,000.01		\$0.00
10   10   10   11   10   11   10   11				OMPONEN	T SUB-TOTAL		\$2,579,068.65		\$0.00		\$2,050,445.82		\$0.00
\$2   700-1-50   SINGLE POST SIGN, BELOCATE		200 1 11				0007777	###### TO	1		48/117	014.007.11		\$0.00
51   700-1-00   SILEE FOST SIXEN READOWE   AS   3   \$3.188   \$22.255   \$50.00   \$52.271   \$51.059													\$0.00 \$0.00
54   700-214   MILTIPOST SIGN, FALGROND MORNT, IL-985F   A8   3   \$12.552.85   \$57.698.55   \$60.00   \$12.0422   \$37,892.65   \$57.00-200   MILTIPOST SIGN, GROUND MORNT, RELOCATE (DO SIGNS)   A8   2   \$2.553.00   \$5.00   \$3.900.30   \$2.909.25   \$53.814.60   \$50.00   \$2.709.25   \$58.00   \$2.909.25   \$53.814.60   \$50.00   \$2.72   \$58.00   \$5.00   \$57.00													\$0.00
55   700-2-00   MULTI-ROST SIGN GROUND MONATE RELOCATE (IGLA SIGNS)   AS   2   \$2,953.00   \$5,907.20   \$500.00   \$2,909.21   \$5,818.60   \$5.00   \$5,909.20   \$5,818.60   \$5.00   \$5,909.20   \$5,818.60   \$5.00   \$5,909.20   \$5,818.60   \$5.00   \$5,909.20   \$5,			,										\$0.00
56   76-1.3   CARDIP PAYMENT MARKER, TYPE II   1.0   1.5   1.0   1.0   1.5   1.0													\$0.00
58   711-11-125   HERMOPLASTIC, STANDAD, WHITE, SOLID, 2° FOR STOP LINE   LF   200   \$22.15   \$5.590.00   \$500   \$512.00   \$5.671.50   \$99   771-11-144   HERMOPLASTIC, STANDAD, WHITE, 2-D OFTED EXTENSION LINE, 12° FOR ROLNDABOUT   GM   0.023   \$5.22.55   \$500   \$5.22.55   \$5.22.55   \$500   \$5.22.55   \$5.22.5				EA	70				\$0.00				\$0.00
11-11-14   BERMOPLASTIC, STANDARD, WHITE, 24 DOTTED GLIDELINE, 0"   GM   G694   S4,545.00   S222.55   S600   S527.50   S272.35									-				\$0.00
						,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	001.0		-	021111	00000000		\$0.00
61   711-11-160   DIERMOPLASTIC, STANDARD, WHITE, MESSAGE OR SYMBOL   EA   4   \$295.33   \$3.181.40   \$80.00   \$290.92   \$3.183.80						91911111	,			0.1,2.1.1.1	0.000		\$0.00
62 711-11-170 DIERMOPLASTIC, STANDARD, WHITE, ARROW EA 4 \$336.73 \$527.00 \$50.00 \$330.60 \$581400 \$63 711-11-120 DIERMOPLASTIC, STANDARD, VELTOW, SOLID, IF FOR DIAGONALS AND CHEVRONS LF 60 \$10.35 \$114.00 \$50.00 \$10.05 \$50.00 \$50.05 \$50.00 \$50.05 \$50.00 \$50.05 \$60.00 \$10						- ,							\$0.00 \$0.00
63 711-1-122   BERMOPLASTIC, STANDARD, OTHER SIRPACES, STALLOW, SOLID, IF FOR DIAGONALS AND CHEVRONS   IF 80 50-35 514-100 5100 5100 5101 5107 5107 5107 5107 5													\$0.00 \$0.00
64 711-16-101 THEAMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6° GM 0.239 \$10,369.65 \$3,411-42 \$50.00 \$10,182.29 \$3,349.67 65 711-16-201 THERMOPLASTIC, STANDARD-OTHER SURFACES, VEILLOW, SOLID, 6° GM 0.457 \$10,465.59 \$4,755.31 \$50.00 \$10,182.29 \$4,653.31													\$0.00
													\$0.00
	65	711-16-201	THERMOPLASTIC, STANDARD - OTHER SURFACES, YELLOW, SOLID, 6"	GM	0.457	\$10,405.50	\$4,755.31		\$0.00	\$10,182.29	\$4,653.31		\$0.00
SIGNING AND PAVEMENT MARKINGS COMPONENT SUB-TOTAL \$78,822.54 \$0.00 \$77,663.83			SIGNING AND PAVEMENT MARKINGS C	OMPONEN	T SUB-TOTAL		\$78,822.54		\$0.00		\$77,663.83		\$0.00

BID TABULATION

IFBC 24-TA005076JH HONORE AVENUE AT OLD FARM ROAD INTERSECTION IMPROVEMENTS

Bidders must provide prices for each available line item on each tab for their bid to be considered responsive

						GATOR GRADING	G & PAVING, LL	c		WOODRUFF	& SONS, INC.	
						LENDAR DAYS		LENDAR DAYS	BID A 430 CA	LENDAR DAYS		LENDAR DAYS
ITEM	PAY ITEM NO.	DESCRIPTION	UNIT	ESTIMATE D QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRIC
		SIGNALIZATION COMPONENT	_									
66	630-2-11	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	LF	320	\$26.60	\$8,512.00		\$0.00	\$24.77	\$7,926.40		\$0.0
67	630-2-12	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	LF	481	\$38.40	\$18,470.40		\$0.00	\$35.78	\$17,210.18		\$0.0
68	635-2-11	PULL & SPLICE BOX, F&I, 13" X 24" COVER SIZE	EA	19	\$1,919.85	\$36,477.15		\$0.00	\$1,789.18	\$33,994.42		\$0.0
69	639-1-122	ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR	AS	- 1	\$5,538.00	\$5,538.00		\$0.00	\$5,161.09	\$5,161.09		\$0.0
70	639-2-1	ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	LF	60	\$16.25	\$975.00		\$0.00	\$15.14	\$908.40		\$0.
71	639-3-11	ELECTRICAL SERVICE DISCONNECT, F&I, POLE MOUNT	EA	- 1	\$2,289.05	\$2,289.05		\$0.00	\$2,133.25	\$2,133.25		\$0.
72	641-2-12	PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE (12')	EA	2	\$3,507.40	\$7,014.80		\$0.00	\$3,268.69	\$6,537.38		\$0.
73	654-2-21	MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, FURNISH & INSTALL - SOLAR, COMPLETE SIGN ASSY- SINGLE DIRECTION	AS	6	\$14,435.75	\$86,614.50		\$0.00	\$13,453.23	\$80,719.38		\$0.
74	654-2-22	MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, FURNISH & INSTALL - SOLAR, COMPLETE SIGN ASSY-BACK TO BACK	AS	2	\$17,537.05	\$35,074.10		\$0.00	\$16,343.44	\$32,686.88		\$0.
		SIGNALIZATION C	OMPONEN	T SUB-TOTAL		\$200,965.00		\$0.00		\$187,277.38		\$0.0
		LIGHTING COMPONENT										
75	715-1-12	LIGHTING CONDUCTORS, F&I, INSULATED, NO. 8 - 6	LF	4301	\$2.95	\$12,687.95		\$0.00	\$2.75	\$11,827.75		\$0.0
76	715-4-12	LIGHT POLE COMPLETE, FURNISH & INSTALL STANDARD POLE STANDARD FOUNDATION, 35' MOUNTING HEIGHT	LF	10	\$15,506.45	\$155,064.50		\$0.00	\$14,451.04	\$144,510.40		\$0.0
77	715-7-11	LOAD CENTER, F&I, SECONDARY VOLTAGE	EA	1	\$31,715,30	\$31,715.30		\$0.00	\$29,590.23	\$29,590.23		\$0.0
78	715-11-438	LUMINAIR, RELOCATE, SIGN, FLOOD	EA	3	\$6,645.60	\$19,936.80		\$0.00	\$6,193.30	\$18,579.90		\$0.0
79	715-500-1	POLE CABLE DISTRIBUTION SYSTEM, FURNISH AND INSTALL, CONVENTIONAL	EA	10	\$1,550,65	\$15,506,50		\$0.00	\$1,445.10	\$14,451.00		\$0.0
		LIGHTING C	OMPONEN	T SUB-TOTAL	. ,	\$234,911.05		\$0.00	.,	\$218,959.28		\$0.0
		UTILITIES COMPONENT						-		,		
80	1000-10	MOBILIZATION (UTILITY CONTRACTOR)	LS	1	\$14.882.70	\$14.882.70		\$0.00	\$53,980.75	\$53,980.75		\$0.0
81	1000-20	PRESSURE TEST	LS	1	\$41,423,75	\$41,423,75		\$0.00	\$11,605.89	\$11,605.89		50.0
82	1000-30	CHLORINATION	LS	1	\$17,014.60	\$17,014.60		\$0.00	\$5,477.13	\$5,477.13		\$0.0
83	1000-40	CONTRACTOR ASBUILTS	LS	1	\$4,969.30	\$4,969.30		\$0.00	\$4,618.62	\$4,618.62		\$0.0
84	1010-012	12* CUT IN CONNECTION	EA	2	\$14,954.95	\$29,909.90		\$0.00	\$26,055.28	\$52,110.56		50.0
85	1010-016	16° CUT IN CONNECTION	EA	1	\$20,175,50			\$0.00	\$35,963.14	\$35,963.14		\$0.0
86	1050-16001	L5* WM SERVICE REMOVAL	LF	55	\$68.30	\$3,756.50		\$0.00	\$26.12	\$1,436.60		\$0.0
87	1050-16003	UTILITY PIPE, REMOVE & DISPOSE, 12"	LF	197	\$84.60	\$16,666,20		\$0.00	\$67.25	\$13,248.25		\$0.0
88	1050-16004	UTILITY PIPE, REMOVE & DISPOSE, 16"	LF	124	\$95.20	\$11,804.80		\$0.00	\$74.24	\$9,205.76		\$0.0
89	1050-31-211	UTILITY PIPE - POLY VINYL CHLORIDE, F&I, WATER/SEWER, I*	LF	100	\$44.05	\$4,405.00		\$0.00	\$24.61	\$2,461.00		S0:
90	1050-51212	12* CL350 DIP WATERMAIN	LF	270	\$262.20	\$70,794.00		\$0.00	\$324.53	\$87,623.10		\$0.0
91	1050-51216	16" CL350 DIP WATERMAIN	LF	108	\$376,30	\$40,640,40		\$0.00	\$452.11	\$48,827.88		50.
93	1055-51116	UTILITY FITTINGS, 16*- 90 DEG MJ BEND (RJ)	EA	1	\$5,330.35	\$5,330.35		\$0.00	\$3,221.33	\$3,221.33		\$0.0
94	1055-52112	UTILITY FITTINGS, 12"-45 DEG MJ BEND (RJ)	EA	11	\$3,013.70	\$33,150.70		\$0.00	\$1,836.65	\$20,203.15		S0:
95	1055-52116	UTILITY FITTINGS, 16°-45 DEG MJ BEND (RJ)	EA	1	\$4,963.50	\$4,963.50		\$0.00	\$2,904.18	\$2,904.18		\$0.0
96	1055-53112	UTILITY FITTINGS, 12*-22.5 DEG MJ BEND (RJ)	EA	1	\$3,017.90	\$3,017.90		\$0.00	\$1,785.18	\$1,785.18		\$0.
97	1055-54306	UTILITY FITTINGS, 12"X6" MJ REDUCER (RJ)	EA	1	\$2,097.25	\$2,097.25		\$0.00	\$1,533.41	\$1,533.41		\$0.0
98	1055-54312	UTILITY FITTINGS, 16*X12" MJ REDUCER (RJ)	EA	1	\$2,758.55	\$2,758.55		\$0.00	\$2,128.76	\$2,128.76		S0:
99	1055-55212	UTILITY FITTINGS, 12"X12" MJ CROSS (RJ)	EA	1	\$4,198.20	\$4,198.20		\$0.00	\$3,543.29	\$3,543.29		\$0.0
100	1080-21101	POTABLE WATER SERVICE, 1.5", SCH 80	LF	62	\$63.45	\$3,933.90		\$0.00	\$34.81	\$2,158.22		\$0.0
101	1080-24112	UTILITY FIXTURE - 12* GV W/BOX, PAD, ID & TRACER	EA	1	\$7,463.00	\$7,463.00		\$0.00	\$7,421.13	\$7,421.13		\$0.0
102	1644-113	FIRE HYDRANT ASSEMBLY, COMPLETE	EA	1	\$10,652.00	\$10,652.00		\$0.00	\$15,641.48	\$15,641.48		\$0.0
103	1644-900	FIRE HYDRANT, REMOVE	EA	1	\$2,314.75	\$2,314.75		\$0.00	\$2,047.45	\$2,047.45		\$0.0
104	1800-1000	ADJUST MH RIM & COVER	EA	2	\$3,226.70	\$6,453.40		\$0.00	\$2,679.93	\$5,359.86		\$0.0
105	1800-1100	ADJUST VALVE	EA	1	\$1,953.10	\$1,953.10		\$0.00	\$3,394.60	\$3,394.60		\$0.0
106	1800-1200	RELOCATE EXISTING WATER METER, BOX & BACKFLOW PREVENTION DEVICE	EA	1	\$132,835.80	\$132,835.80		\$0.00	\$4,742.45	\$4,742.45		\$0.
		UTILITIES COMPO	ONENT SUB-	TOTAL		\$497,565.05		\$0.00		\$402,643.17		\$0
btotal Pri	ice ( Total Roadwa	y Component, Signing and Pavement Markings Component, Signalization Component, Lighting Component,	Utilities Con	ponent)		\$3,591,332.29		\$0.00		\$2,936,989.49		\$0.
		OTHER										
107		CONTRACT CONTINGENCY (USED ONLY WITH COUNTY APPROVAL)		10%		\$359,133.23		\$0.00		\$293,698.95		\$0
		TOTAL BID PRICE (SUBTOTAL PRICE PLUS THE CONSTRUCTION				\$3.950.465.52		NO BID		\$3,230,688,44		NO BID